Industrial Economics N14100
Worksheet 1

1. Using iterative elimination of never-best responses, find the set of rationalisable strategies and the Nash Equilibrium(a) in the following game:

	
	
	B

	
	
	1
	2
	3
	4

	A
	1
	10, 7
	8, 8
	0, 6
	2, 6

	
	2
	6, 5
	2, 3
	5, 1
	7, 4

	
	3
	0, 4
	5, 8
	3, 7
	5, 10

	
	4
	4, 6
	9, 8
	6, 9
	1, 1


2. Consider the following version of the Battle of the Sexes:

	David
	Paula

	
	
	Cricket
	Theatre

	
	Cricket
	3, 2
	0, 0

	
	Theatre
	0, 0
	2, 4


(i) Is there a pure-strategy NE?

(ii) Find any mixed-strategy NE

3. Consider the following game:

	
	
	Firm A

	
	
	Advertise
	Price
	R&D

	Firm B
	Advertise
	5, 4
	0, 1
	0, 6

	
	Price
	4, 1
	1, 2
	1, 1

	
	R&D
	5, 6
	0, 3
	4, 4


(i) Find all the pure-strategy Nash Equilibria for this game.

(ii) Briefly discuss the likely solution to the game.
Homework question
(No help will be given for this one, but there will be a small prize for the 1st person from the class to email me the correct Nash Equilibrium with a brief explanation.  The correct answer will be posted on Nexus early next week.)
4. A cricket bat used by WG Grace is up for sale by means of a sealed bid auction.  The seller dislikes cricket and does not value the bat at all.  Two cricket lovers would like to buy the bat.  Johnston values the bat at £20,000 whilst Arlott values it at just £1000.  Johnston and Arlott must each submit a secret bid for one of the following amounts: £0, £500, £1000, £10,000, £20,000 or £25,000.  The bat will go to the one making the higher bid.  There is no reserve price for the bat.  In the event of a tie, the auctioneer will decide who gets the bat by tossing a coin.
(i) Write out the payoff matrix for the auction.

(ii) Identify the Nash equilibrium set (or sets) of bids & payoffs.
